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Test chart AEK9; Reflection colorimetry for displays TLS00..TLS70 input: rgh/cmy0/000n/k
: L*ABJIND- L*ABCtgbdata for Ostw dewce(Nn— 0to 40 L

Nn= 0 to 70, adaptatloma—ss 6

TLS00 Reflection colorimetry, Sysﬁem WCGa, L*ABINDL*ABCh, Yin = 0 O.L*nn =0.0 vwa =886 TLS27 Reflection colorimetry, System WCGa, L*ABINDL*ABCh, Ynn = 5 04,L* nn = 26. 85 Yiwa = 88,6
Colourr g Y y Colourr g Y y
T % Ry 10 00 00 55. 29(_55 29+0.0) 37.0(=37.0+0.0) 0.5947 0.3979 Ry 10 00 00 56.93( z 14+44.79) 39.93(=34.89+5.04) 6.1 _u 64+5. 49) 0.5528 0.
o Ys 10 10 00 67.94(=67.94+0.0) 72.65(=72.65+0.0) 04794 04126 Yg 10 10 00 ss 86(=64.07+4.79) 73.56(=68.52+5.04) 6.55(=1.06+5.49) 04623 0,
EPA Gy 00 10 00 2112(=21.12+0.0) 57.88(=57.88+0.0) . 02288 04271 Gy 5.62(=54.58+5.04) 18.02(<12.54+5.49) 0.2414 0.
3.2 Cs 00 10 10 28.92(=2892+0.0) 5LG(=516+0.0)  9579(=9579+400) 0.164 04927 ca 53.71(=48.67+5.04) 95.83( 0.1765 0,
93 Bs 00 00 10 16.28(=16.28+0.0) 595+0.0) 9534(=05.34+0.0)  0.1276 0.125 By Y 34+4.79)  20.07(=15.03+5.04) 95.41 . 0.1485 0}
5 Mg 10 00 10 63.09(=6309+0.0) 30.72(=30.72+0.0) 83.18(=83.18+0.0)  0.3564 0.1736 Mg 10 00 10 64.29(=505+4.79) 34.01(=28.97+5.04) 83.93(=78.45+5.49) 0.3528 0.
5= 002(=0.02+00)  0.02 03327 03827 N0y 00 00 00 48(=001+479)  505(=0.01+504)  55(=0.01+5.49) 03127 0320 5 =+
o= 88.6(=88.6+0.0) 96.49(=96.4 0.3127 0.329 W 10 10 10 8 79.42+4.79) 88.6(=83.56+5.04)  96.49(=91.0+5.49)  0.3127 0.829_,
S0 002(=0.02¢00) 0.02(=0.02+0.0) 0.3327 03327 Nlg 00 00 00 4.8(=0.01+479)  5.05(=0.01+5.04)  5.5(=0.01+5.49) 03127 0320 O =
39 10001(-10001+0.0) 106 3(-10 0.3133 0[3207 Wiy 9.65+4.79)  99.36(=04.32+5.04)  107.63(=102.14+5.49) 0.3133 03298 5
L= 18,0(=18.0+0.0) 0.3134 0.3296 714 6.14+4.79) 22.01(=16.97+5.04) 23.87(=18.39+45.49)  0.3132 0| 32@ N
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§,§ (T:LIS% Reflection colorimetry, Sys‘e”‘ WCGa, L*ABINDL'ABCh, Yin 69 Yiva = 88,6 TLS38 Reflection colorimetry, Sys\em WCGa, L"ABINDL-ABCh, Yy = 100817y = 3799 wa =884 N
= oot g x 2
eg Ry 10 00 00 55.49(_54 89+06)  37.3 67+069) 0589 03965 CR[:D"'I'U 90 b0 42_357:32 78+10.08) 11525 R A =
50 Ys 10 10 00 68.05(=67.46+0.6) 72.7 1240.69) 04771 05102 Y 10 10 00 0446 0h1TT O
o= Go 00 10 00 ZIS6C2096:05) 580 1388(=13.2+0.69)  0.2305 0.p21 G: 00 10 00 02466 Ofsa08) H>
o< Cs 00 10 10 29.3(=28.71+0.6) B(=95.11+0.69) 01656 0.pa31 Cq 00 10 10 55.81(=45.73+10.08) 95.87(=84.9+10.98) 0.1855 02998 J>
& By 00 00 10 16.75(=1615+0.6) 16. 45( 15.83+0.63) 95.35(=94.66+0.69) 01303 0128 By 00 00 10 24.21(=14.13+10.08) 9547 l60s 1
: Mg 10 00 10 63.23 3113(=30.5+0.63)  83.27(=82.59+0.69) 0.356 0752 My 10 00 10 37.3(=27.22+10.08)  84.69 hooB X
= NOg 0.0 00 0.0 064(=0.01+0.63)  0.7(=0.01+0.69) 0.3128 0.3282 Ny 1009(-001+1008) 10.99(-0.01+10.98) 02895 040l ©
o Wo; 10 10 10 84.21=B362106) BBG(-37.974063) 49(:95.8+069) 03127 0,429 oy 6(-78.52+10.08) 96.49(-85.51+10.98) 0.3127 0B290) T
g2 Nig 00 00 00 06100106  064(0.01+063)  0.7(=001+0.69) 0.3128 0.3282 Nig 09(-001+10.08) 1099(-001+10.98) 0.2895 0.B40E M
2o 4.38+0.6)  99.93(=99.3+0.63)  108.22(=107.53+0.69) 0.3133 0[3297 Wiy 98.71(-88.63+10,08) 106.96(-95.98+10.98) 0.3136 3248 X
5 % |z 6.99+0.6) 18.5(=17.87+0.63)  20.04(=19.36+0.69) 0.3133 03296 1 0.8 0.18 0.18 23.95(=14.37+9.58) 26.03(=15.95+10.08) 28.25(=17.28+10.98) 0.3061 0|33 r‘Q
a i o1 o
Py o
g Q  TLS11 Reflection colorimetry, System WCGa, L*ABJNDL*ABCh, Ynn = 1.26,L*nn = 11.0 Yiya = 88,6 | TLS52 Reflection colorimetry, System WCGa, L*ABJNDL*ABCh, Ynn = 20.16 L* nn = 52.02 Yiya = 88, '?' 4
=3 Colourr g b Y Z Xy Colourr g b N z x o
Zm Ry 10 00 00 37.72(=36.46+1.26) 203(=0.66+1.37)  0.5835 0.3952 Ry 10 00 00 48.73(=28.57+20.16) 22.47] 3668 I
S A Yo 10 10 00 7288(=71.62+126) 248(=111+1.37) 0475 0$078 Yg 10 10 00 76.28(=56.12+20.16) 22.82, ladegs’ >_<‘
=© Gy 00 10 00 583 7.05+1.26) 14.47(=13.1+1.37)  0.2322 0.6151 Gy 00 10 00 64.87(=44.71+20.16) 32.22f 48
=T Cs 00 10 10 0.87+1.26) 95.8(=94.43+1.37)  0.1672 0.2935 Cy 00 10 10 . 60.02(=39.86+20.16) 95.95( 304y =
K84 By 00 00 10 16. 97( 15711120 9535093901137 0133 0J31 By 00 00 10 3L73(=1257+19.16) 32.47(=12.31+20.16) 95 573 65+21.95) 01985 0[203% 8
o= Mg 10 00 10 3154(=30.28+1.2 1.99+137) 03555 01769 Mg 10 00 10 67.89(=48.73+19.16) 4389(=23.73+20.16) 8 4.25+21.95)  0.3429 012210
= NOg 0.0 00 0.0 1.27(=0.01+1.26) bpovlyves 37) 03134 0.929 NOg 00 0.0 00 . . K 0.3127 0829
© wa 10 10 10 88.6(-87.34+1.26)  96.49(=95.11+1.37)  0.3127 0.829 W 10 10 10 5.05+19.16) 88.6(=68.44+20.16) 96.49(=74.54+21.95) 0.3127 013252
g Nlg 00 00 00 121(-001+12)  127(=001+126)  138(=0.01+137) 03134 0.329 Nlg 00 00 00 19.17(=001+19.16) 20.17(=0.01+20.16) 2196(=0.01+2195) 03127 08295’
¢ Wilg 113 113 113 949(=03.71+41.2)  99.85(=98.59+1.26) 108.14(=106.76+1.37) 0.3133 03297 Wig 113 113 113 92.50(=73.43+19.16) 97.42(=77.26+20.16) 105.62(=83.67+21.95) 03132 (328F
@ 714 018 0.18 018 18.06(=16.87+1.2) 19.0(=17.74+1.26) 20.59(=19.21+1.37) 0.3134 0[3296 71 018 0.18 0.18 32.38(=13.22+19.16) 34.06(=13.9+420.16) 37.01(=15.06+21.95) 0313 0] 3232 c
e e =%
i" TLS18 Reflection colorimetry, System WCGa, L*ABINDL*ABCh, Yp = 2.52,L* nn = 18.01 Yiva = 88,6 | TLS70 Reflection colorimetry, System WCGa, L*ABJNDL*ABCh, Y = 40.32*nn = 69.7. VWa =886 E 3
o Colourr g X Y F2 x y Colourr g b X ~
3 Ry 10 00 00 56.11(=53.72+2.4) 05728 0.3926 Ry 10 00 00 68.45(=30.13+38.32) 60. 49( 20.16+40.32) 44. 27(- 03952 0 %5 T
Q Yo 10 10 00 68.4(=6601+2.4) 0.4706 0503 Yo 10 10 00 7534(=37.02+38.32) 79.91(=39.50+40.32) 44.51 0377206 O 3
=, Gy 00 10 00 2291(=2052+2.4) . 15.65(=12.91+2.74)  0.2354 0.5037 Gg 00 10 00 1.51+38.32) 71.86(=3154+40.32) 51.14( 0.2883 0.
= Cq 00 10 10 30.49(=28.09+2.4) 52, 65(=50.13+2.52) 95.81(=93.07+2.74)  0.1704 0.p942 Cs 00 10 10 5.76+38.32) 68.44(=28.12+40.32) 96.11(=52.: 0.2473 0]
By 00 00 10 . 549+252) 9537(=92.63+2.74) 01383 0.1368 By 00 00 10 (=8.86+38.32) 49.01(=8.69+40.32) 9586(=51.96+43.9) 0.2457 O}
Mg 10 00 1.0 63.69(=61.29+2.4) 9.84+2.52) 83.56(=80.81+2.74)  0.3546 0.1802 Mg 10 00 10 57.06(=16.74+40.32) 89.23( 0332 0.
NOs 00 00 00 241(=001+24)  2.53(=0.01+2.52) 0+2.74) 03134 0.329 NOg 0.0 0.0 0.0 03127 0.
Woy 10 1.0 10 84 21(=81.82+2.4)  88.6(=86.08+2.52) (=93.74+2.74)  0.3127 0.829 W 10 10 10 0.3127 0.
0+2.74) 0.3134 0.329 Nig 00 00 00 03127 0. S
B y 05.23+2.74) 0.3133 03296 Wilg 1.13 1.13 1.13 90.1: 102.93(=59.03+43.9) 0.3131 0[3294, D
71y 0.8 0.18 0.18 19.02(=16.63+2.4)  20.0(=17. 48+2. 52) 21.68(=18.93+2.74)  0.3133 03295 714 0.18 0.18 0.18 47.64(=9.32+38.32) 50.13(=9. 81440, 32) 54.52(=10.62+43.9) 0.3128 O]




